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1. Identify the property by which the two given triangles are similar
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(i) not similar (ii) AAA Similarity (iii) SSS Similarity (iv) SAS Similarity

_|
[ w T

2. ldentify the property by which the two given triangles are similar
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(i) not similar (ii) SAS Similarity (iii) SSS Similarity (iv) AAA Similarity

3. ldentify the property by which the two given triangles are similar
C 16 cm
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(i) SAS Similarity (ii) AAA Similarity (iii) SSS Similarity (iv) not similar
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In the given figure, AEFG and AQRS are such that

EF FG
4. LF=/R and — = —.
QR RS

Identify the property by which the two triangles are similar
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(i) SAS Similarity (ii) AAA Similarity (iii) not similar (iv) SSS Similarity



In the given figure, AEFG and ASTU are such that
5. LF=/T and £G=~1U.
Identify the property by which the two triangles are similar

E
/\ |
F G T U

(i) not similar (ii) SSS Similarity (iii) AAA Similarity (iv) SAS Similarity

In the given figure, ACDE and ATUV are such that

CD DE EC

TU UV VT

Identify the property by which the two triangles are similar
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(i) SSS Similarity (ii) SAS Similarity (iii) not similar (iv) AAA Similarity
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7. In the given figure, LM | JK.If U = 1 andIK=11.6 cm, findIM

] K
(i) 6.73 cm (ii) 8.73 cm (iii) 9.73 cm (iv) 5.73cm (v) 7.73 cm
In the given figure, OP| MN.

" If LO=8cm,LM=12.8cmandLN=14.8 cm, findLP
L

0 P

/

M N

(i) 8.25cm (ii) 9.25 cm (iii) 11.25cm (iv) 7.25cm (v) 10.25cm



9. In the given figure, PQ || FG and EQ = 13.8 cm, PQ = 14.4 cm and FG = 24 cm, find EG
E

F G

(i) 25.0cm (ii) 21.0cm (iii) 22.0cm (iv) 24.0cm (v) 23.0cm

10. In the given figure, AABC is isosceles right-angled at B and BD L CA. 4B =
A

B C

(i) £D (ii) £C (iii) £E (iv) £ZA (v) LF

11. In the given figure, AMNO is isosceles right-angled at N and NP L OM. LOPN =
M

N O

(i) £NPM (ii) £ZPNO (iii) £ZPMN (iv) 4ZNOP (v) ZMNP

In the given figure, three lines |, m and n are such that | | m || n.
12. Two transversals PQ and RS intersect them at the points A, B, Cand D, E, F respectively.
AABH ~

m
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m
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(i) AACF (ii) ADCF (iii) AFDA (iv) AFEH (v) ADAE



In the given figure, three lines |, m and n are such that | | m || n.
13. Two transversals PQ and RS intersect them at the points A, B, Cand D, E, F respectively.
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(i) LFAC (ii) 4ZFEH (iii) £ZHFE (iv) ZAFD (v) ZFDA

In the given figure, three lines |, m and n are such that | || m || n.
14. Two transversals PQ and RS intersect them at the points A, B, Cand D, E, F respectively.

LFEH

C
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(i) LACF (ii) £ABH (iii) £DAF (iv) ZEHF (v) LFDA

In the given figure, three lines |, m and n are such that | || m || n.
15. Two transversals PQ and RS intersect them at the points A, B, Cand D, E, F respectively.
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(i) £BHA (ii) £HFE (iii) 4DAF (iv) ZEHF (v) ZAFD




In the given figure, DEFG is a trapezium in which

DE | FGand the diagonalsEGandDFintersect atH.

If HD=(2x+11)cm,EH=(2x+5)cm,HF=(x+13) cm and
GH=(x+9) cm, find the value of x

16.

(i) (19,19) (i) (19,17) (i) (17,17) (iv) (17,16) (v) (18,18)

In the given figure, GHI) is a trapezium in which
" GH | IJand the diagonalsH)and Glintersect atK.AKl) ~

(i) AKHI (i) aAHI)} (iii) AKGH (iv) AKJG (v) AJGH

18. In the given figure, the altitudes NC and DO of ABCD meet at M. AMCD ~
B

C D

(i) AOCM (ii) AOCD (iii) ANDC (iv) AMON (v) ANDM

19. In the given figure, the altitudes RC and DS of ABCD meet at Q. £DQC =
B

C D

(i) £QRS (ii) £CDQ (iii) £RSQ (iv) 4£QCD (v) 4SQR



In the given figure, ST || IJ , and median HK bisects ST.
If Hl =20 cm, HK=20cm and HL = 13.33 cm, HS =

20.
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(i) 12.33 cm (ii) 15.33 cm (iii) 14.33cm (iv) 11.33cm (v) 13.33cm

In the given figure, TU | CD , and median BE bisects TU.
If BE=15.7cm,BD =17 cmand BF =7.14cm, BU =
B

21.
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(i) 6.73 cm (ii) 5.73 cm (iii) 7.73cm (iv) 8.73cm (v) 9.73 cm

22. In the given figure, ST || HI, and median GJ bisects ST. AGJI ~
G

H J I

(i) AGHI (ii) AHIG (iii)) AGH) (iv) AGSK (v) AGKT



23 In the given figure, AlJK is a triangle in which IL is the internal bisector of Z1 and KM || LI meeting JI produced at M
"L LIKM =

| L K

(i) ZILK (ii) ZLKI (iii) £MIK (iv) £ZKMI (v) Z]L

In the given figure, H and | are points on the sides EF and EG respectively of AEFG.For which of the following

24.
cases, HI | FG

a) EH=8cm,HF =8cm, El=10cm and IG = 10 cm
b) EF =16 cm, HF =8 cm, EG = 20 cm and El = 10 cm
c) EF=16cm,EH=10cm, EG=20cmand IG =10 cm
d) EF=16cm, HF =8 cm, El =12 cm and EG = 20 cm
E
H
F G

(i) {cd,a} (i) {c,b,a} (i) {d,b} (iv) {c,a} (v) {a,b}

In the given figure, the area of the AHIJ is x sq.cm. K,LLM are the mid-points of the sides 1) , JH and HI
" respectively. The area of the AKLM is
H

1 2 1 3 1
(i) > of area of AHI) (ii) 3 of area of AHI) (iii) 3 of area of AHI) (iv) 2 of area of AHI} (v) P of area of AHIJ



In the given figure, the parallelogram MNOP and the triangle AQMN are on the same bases and between the
26. same parallels.
The area of the AQMNis x sg.cm. The area of the parallelogram is

P Q 0

M N

4 3
(i) 3 the area of the triangle (ii) 5 the area of the triangle (iii) thricethe area of the triangle

5
(iv) twicethe area of the triangle (v) 4 the area of the triangle

If the ratio of the bases of two triangles is C : D and the ratio of the corresponding heights is E : F , the ratio of
" their areas in the same order is

(i) EF:CD (ii) CE:DF (iii) DE:CF (iv) CD:EF (v) CF:DE

28. In the given AFGH, I} | GH. If FI:IG =6.67 cm:13.33cm and FH=15cm, F] =
F

A\

G H

(i) 5.00cm (ii) 3.00 cm (iii) 7.00 cm (iv) 4.00cm (v) 6.00 cm

29. In the given two similar triangles, if h =18 cm, i =19 cm, j=15cm, k = 10.8 cm, find |

i m

(i) 11.40 cm (ii) 9.40 cm (iii)) 13.40 cm (iv) 10.40cm (v) 12.40cm

30. In the given figure, given ZIFG = ZHFI, x:y=8cm:8cmand q= 17 cm, find p =
F

G Yy

(i) 18.00 cm (ii) 17.00 cm (iii) 16.00 cm (iv) 15.00cm (v) 19.00 cm



31. In the given figure, given LFCD = LECF, p = 8.27 cm, g = 8.73 cm and DE = 17 cm, find
C

D F E

(i) 10.73 cm (ii) 6.73 cm (iii) 7.73 cm (iv) 9.73cm (v) 8.73cm

32. In the given figure, CDEF is a trapezium where OC = 13 cm, OD = 13 cm and OE = 4 cm
F E

C D

(i) 4cm (ii) 5cm (iii) 2cm (iv) 3cm (v) 6cm

33. In the given figure, LEBC = 46.59°, find the value of x =
B

= D

(i) 45.41° (ii) 42.41° (iii) 43.41° (iv) 44.41° (v) 41.41°

34. In the given figure, £ZHI] = 43.89°, find the value of y =
G

H I

(i) 48.11° (ii) 45.11° (iii) 47.11° (iv) 46.11° (v) 44.11°

FE =

. Find OF =



35. In the given figure, if HI || JK then
H |

J K

(i) ALIH ~ ALKJ (ii) AHIL ~ AKJL (iii) AHIL ~ ALJK (iv) ALHI ~ ALJK (v) AHIL ~ ALK]

36. In the given figure, AEFG is right-angled at F. Also, FH L EG. Which of the following are true?

a) FH2=EH.HG

b) EF%=GE.GH

¢) FG2=GE.GH
2

d) FG™=EG.EH
e) EF2=EG.EH
E
H
F G

(i) {b,a,c} (i) {a,c,e} (iii) {b,a} (iv) {b,d,e} (v) {d,c}

37. In the given figure, ABCD is right-angled at C. Also, CE L BD. If BC = 18 cm, CE = 13.07 cm, then find CD.
B

C D]

(i) 17.00 cm (ii) 19.00 cm (iii) 21.00 cm (iv) 20.00 cm (v) 18.00 cm



38. In the given figure, AlJK is right-angled at J. Also, JL L IK. If IL =9.9 cm, LK = 12.8 cm, then find JL.
I

J K
(i) 9.26 cm (ii) 12.26 cm (iii) 10.26 cm (iv) 13.26 cm (v) 11.26 cm
In the given figure, ABCD ~ ANOP and BC = 13 cm, NO = 18.2 cm.

" If the area of the ABCD =53.44 sq.cm, find the area of the ANOP
N

C D O P

(i) 103.75sg.cm (ii) 104.75 sq.cm (iii) 106.75 sq.cm (iv) 102.75 sg.cm (v) 105.75 sqg.cm

In the given figure, ACDE ~ ANOP and DE =14 cm, OP = 19.6 cm and
" CF=10.5 cm,find the area of the ANOP

N
¢ i
0 s

D F E ) Q P

(i) 144.03 sgq.cm (ii) 142.03 sq.cm (iii) 146.03 sq.cm (iv) 143.03 sgq.cm (v) 145.03 sq.cm

In the given figure, AEFG & APQR are similar triangles. If the ratio of the heights EH : PS = 11 : 15, then the ratio

41.
of their areas is

F

T
w

G Q R
(i) 121sg.cm:223sg.cm (ii) 122sqg.cm:225sqg.cm (iii) 120sg.cm:225sg.cm (iv) 121sg.cm:227sg.cm

(v) 121sg.cm:225sg.cm



42 In the given figure, points D , E and F are the mid-points of sides BC, CA and AB of AABC. Which of the following
" are true?

a) 1
Area of AABC = -3 area of ADEF

b) 1
Area of trapezium BCEFis 2 the area of AABC

c) Area of AABC = 4 times area of ADEF
d) Area of trapezium BCEF is thrice the area of AAFE
e) All four small triangles have equal areas

A

B C

(i) {b,d} (i) {a,c,d} (iii) {a,b,e} (iv) {cd,e} (v) {ac}

In the given figure, points | , ] and K are the mid-points of sides GH, HF and FG of AFGH. Which of the following

43,
are true?

a) AKGI ~ AFGH
b) AFK] ~ AFGH
c) AlJK ~ AFGH
d) AIK] ~ AFGH

)

e) AJIH ~ AFGH

F

G H

(i) {d,e,a} (i) {d,c} (i) {d,b} (iv) {ab,c,e} (v) {d,a}

The perimeters of two similar triangles are 26 cm and 20 cm respectively. If one side of the first triangle is 12 cm,
" find the length of the corresponding side of the second triangle.

(i) 11.23 cm (ii) 8.23 cm (iii) 9.23 cm (iv) 7.23cm (v) 10.23 cm

45. In the given figure, L is a point on side JK of AlJK such that £ZKIJ = £ZILK = 110°, £ZLKI = 27°. Find £KIL
!

110

21%
| L K

(i) 45° (ii) 44° (iii) 43° (iv) 42° (v) 41°



EFGH is a square and AEFI is an equilateral triangle. Also, AEG] is an equilateral triangle. If area of AEFI is 'a'
" sqg.units, then the area of AEG] is

J

E F

1 1
(i) 2a sqg.units (ii) v3 a sqg.units (iii) 2\/3 a sq.units (iv) azsq.units (v) 3 a sq.units

47. KLMN is a cyclic trapezium. Diagonals LN and KM intersect at O. If NK = 15 cm, find LM
N M

K L

(i) 14 cm (ii) 13 cm (iii) 15cm (iv) 17cm (v) 16cm

A vertical stick 16 mlong casts a shadow of 12 mlong on the ground.
48. At the same time, a tower casts the shadow 96 mlong on the ground.
Find the height of the tower.
R

C D S T

(i) 128 m (ii) 127 m (iii)) 126 m (iv) 130 m (v) 129 m



In the given figure, AEFG, PQ || FG such that
49. ~ EP
area of AEPQ= area of PQGF. Find EF

E

(i) '1\/4 (i) 1 (iii) 132 (iv) '1\/2 (v) 1\/1
S i i) 5 v) 2 vl V-

50. In the given figure, ZNKL = £ZMKN and KN || OM and KL = 20 cm, LN = 8 cm and NM = 8 cm. Find KO
O

L N M

(i) 22.00 cm (ii) 20.00 cm (iii) 18.00 cm (iv) 21.00cm (v) 19.00 cm

In the given figure, Gl is the angular bisector of LZG& £I
" FG=20 cm,GH=20 cmandHI=23 cm.FindIF
|

F G

(i) 22.00cm (ii) 21.00 cm (iii) 23.00cm (iv) 24.00cm (v) 25.00 cm



In the given figure, CDE is a triangle and 'O' is a point inside ACDE. The angular bisector of £DOC, LEOD &

52.
LCOE meet CD, DE & EC at F, G & H respectively . Then

D G E
(i) CF.DG.EH=FD.GE.HC (ii) CF.DG.EH=0C.OD.OE (iii) CF.DG.EH=FG.GH.HF
(iv) CF.DG.EH=CD.DE.EC (v) CF.DG.EH=O0F.OG.OH

53. In the given figure, if A, Q, R, S, T, U are equidistant and RP || UB and AB = 21 cm. Find AP

A P B

(i) 8.40cm (ii) 6.40 cm (iii) 9.40 cm (iv) 10.40cm (v) 7.40cm

54. From the given figure and values, find x

b +
& >,
o -
b
o %
M G700 Gy (2,34 Gy ((C2R)35) (v ((022),36) v ()35
| , 5 1l 2 , I 2 , v 4 , \% 2 ’

55. If the measures are as shown in the given figure, find BC

A
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Ql{;@ \g}
5 e
3 €
5 T
14.4 cm
& =
ey %
B c

(i) 26.0cm (ii) 23.0cm (iii) 24.0cm (iv) 25.0cm (v) 22.0cm



56.

In the given figure, the two circles touch each other internally.
Diameter OB passes through the centre of the smaller circle.
OX =9 cm,QY = 20 cmand radius of the inner circle is5.4 cm.
Find the radius of the outer circle.

b

(i) 13.00cm (ii) 12.00cm (iii) 11.00 cm (iv) 10.00 cm

(v)

14.00 cm



Assignment Key

1) (iv) 2) (iv) 3) (iii) 4) (i) 5) (iii) 6) (i)
7) (v) 8) (ii) 9) (v) 10) (i) 11) (i) 12) (i)
13) (i) 14) (v) 15) (i) 16) (iii) 17) (iii) 18) (iv)
19) (v) 20) (v) 21) (iii) 22) (v) 23) (iv) 24) (v)
25) (v) 26) (iv) 27) (ii) 28) (i) 29) (i) 30) (ii)
31) (v) 32) (i) 33) (iii) 34) (iv) 35) (ii) 36) (ii)
37) (i) 38) (v) 39) (ii) 40) (i) 41) (v) 42) (iv)
43) (iv) 44) (iii) 45) (iii) 46) (i) 47) (iii) 48) (i)
49) (iv) 50) (ii) 51) (iii) 52) (i) 53) (i) 54) (v)
55) (iii) 56) (ii)
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